ALLEGHENY COUNTY DEPARTMENT OF PUBLIC WORKS

BID TABULATION FOR SUPERSTRUCTURE REPLACEMENT OF Montour Run Bridge No. 6

North Fayette and Moon Township

COUNTY PROJECT NO. MT06-0608

STATE PROJECT NO. 0-96638-0-7-000-1110-221

MPMS NO. 79896

DATE ADVERTISED: May 23, 2012

DATE BID OPENED: June 27, 2012

I hereby cerify that this tabular reflects an accurate and true account of the unit prices, extensions, and total amounts of each individual bidder that express an interest in this project. When required modifications are made as warranted.

Daniel F. Swisher Contract Manager County of Allegheny Department of Public Works

Project No. MT06-0608			Joseph	Joseph B. Fay Co.		Mosites Construction Company		Golden Triangle Construction Company, Inc.	
ITEM NO.	DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
0201-0001 A	Clearing and Grubbing	1 LS	\$11,000.00	\$11,000.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	
0203-0001 C	Class 1 Excavation	415 CY	\$42.00	\$17,430.00	\$70.00	\$29,050.00	\$20.00	\$8,300.00	
0204-0001 C1, H	Class 2 Excavation	2 CY	\$15.00	\$30.00	\$110.00	\$220.00	\$40.00	\$80.00	
4208-0001 C	Special Rolling, Modified	1 HOUR	\$375.00	\$375.00	\$210.00	\$210.00	\$150.00	\$150.00	
0212-0002 C3, H, M2	Geotextile, Class 2, Type A	8 SY	\$4.00	\$32.00	\$15.00	\$120.00	\$3.00	\$24.00	
0212-0014 C3, H, M2	Geotextile, Class 4, Type A	979 SY	\$6.00	\$5,874.00	\$5.00	\$4,895.00	\$2.00	\$1,958.00	
0309-0426 E	Superpave Asphalt Mixture Design HMA Base Course, PG 64-22 0.3 to < 3 Million ESALS, 25.0 MM Mix, 6" Depth	572 SY	\$43.00	\$24,596.00	\$50.00	\$28,600.00	\$40.00	\$22,880.00	
0350-0104 C, E	Subbase 4" Depth (No. 2A)	60 SY	\$30.00	\$1,800.00	\$29.00	\$1,740.00	\$10.00	\$600.00	
4350-0106 C, E	Subbase 6" Depth (No. 2A)	572 SY	\$16.50	\$9,438.00	\$21.00	\$12,012.00	\$18.00	\$10,296.00	
4350-0120 C, E	Subbase (No. 2A)	191 CY	\$80.00	\$15,280.00	\$110.00	\$21,010.00	\$50.00	\$9,550.00	
4409-0482 F	Superpave Asphalt Mixture Design HMA Wearing Course, PG 64-22 0.3 to < 3 Million ESALS, 9.5 MM Mix, 1½" Depth. SRL-H	934 SY	\$15.90	\$14,850.60	\$16.00	\$14,944.00	\$15.00	\$14,010.00	
0409-6450 F	Superpave Asphalt Mixture Design HMA Binder Course, PG 64-22 0.3 to < 3 Million ESALS, 19.0 MM Mix, 2½" Depth	572 SY	\$18.30	\$10,467.60	\$25.00	\$14,300.00	\$25.00	\$14,300.00	
0409-6470 F	Superpave Asphalt Mixture Design HMA Binder Course, PG 64-22 0.3 to < 3 Million ESALS, 19.0 MM Mix	47 TON	\$228.50	\$10,739.50	\$150.00	\$7,050.00	\$135.00	\$6,345.00	
0460-0001 F4	Bituminous Tack Coat	1,506 SY	\$1.65	\$2,484.90	\$0.70	\$1,054.20	\$0.25	\$376.50	
	Bituminous Prime Coat	60 SY	\$22.50	\$1,350.00	\$26.00	\$1,560.00	\$15.00	\$900.00	
4491-0012 F3	Milling of Bituminous Pavement Surface, 1½" Depth, Milled Material Retained by Contractor	362 SY	\$13.95	\$5,049.90	\$13.00	\$4,706.00	\$11.00	\$3,982.00	
0608-0001 X	Mobilization	1 LS	\$30,000.00	\$30,000.00	\$50,000.00	\$50,000.00	\$42,000.00	\$42,000.00	

Projec	t No. MT06-0608			Construction oration	*Carmen Paliotta Contracting Inc.		
ITEM NO.	DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
0201-0001 A	Clearing and Grubbing	1 LS	\$6,800.00	\$6,800.00	\$15,000.00	\$15,000.00	
0203-0001 C	Class 1 Excavation	415 CY	\$24.25	\$10,063.75	\$80.00	\$33,200.00	
0204-0001 C1, H	Class 2 Excavation	2 CY	\$240.00	\$480.00	\$250.00	\$500.00	
4208-0001 C	Special Rolling, Modified	1 HOUR	\$180.00	\$180.00	\$500.00	\$500.00	
0212-0002 C3, H, M2	Geotextile, Class 2, Type A	8 SY	\$1.00	\$8.00	\$10.00	\$80.00	
0212-0014 C3, H, M2	Geotextile, Class 4, Type A	979 SY	\$1.75	\$1,713.25	\$10.00	\$9,790.00	
0309-0426 E	Superpave Asphalt Mixture Design HMA Base Course, PG 64-22 0.3 to < 3 Million ESALS, 25.0 MM Mix, 6" Depth	572 SY	\$35.00	\$20,020.00	\$45.00	\$25,740.00	
0350-0104 C, E	Subbase 4" Depth (No. 2A)	60 SY	\$39.00	\$2,340.00	\$45.00	\$2,700.00	
4350-0106 C, E	Subbase 6" Depth (No. 2A)	572 SY	\$28.50	\$16,302.00	\$45.00	\$25,740.00	
4350-0120 C, E	Subbase (No. 2A)	191 CY	\$55.00	\$10,505.00	\$70.00	\$13,370.00	
4409-0482 F	Superpave Asphalt Mixture Design HMA Wearing Course, PG 64-22 0.3 to < 3 Million ESALS, 9.5 MM Mix, 1½" Depth. SRL-H	934 SY	\$15.50	\$14,477.00	\$25.00	\$23,350.00	
0409-6450 F	Superpave Asphalt Mixture Design HMA Binder Course, PG 64-22 0.3 to < 3 Million ESALS, 19.0 MM Mix, 2½" Depth	572 SY	\$17.00	\$9,724.00	\$30.00	\$17,160.00	
0409-6470 F	Superpave Asphalt Mixture Design HMA Binder Course, PG 64-22 0.3 to < 3 Million ESALS, 19.0 MM Mix	47 TON	\$99.50	\$4,676.50	\$150.00	\$7,050.00	
0460-0001 F4	Bituminous Tack Coat	1,506 SY	\$2.25	\$3,388.50	\$3.50	\$5,271.00	
0461-0001 F4	Bituminous Prime Coat	60 SY	\$9.75	\$585.00	\$12.00	\$720.00	
4491-0012 F3	Milling of Bituminous Pavement Surface, 1½" Depth, Milled Material Retained by Contractor	362 SY	\$30.00	\$10,860.00	\$40.00	\$14,480.00	
0608-0001 X	Mobilization	1 LS	\$51,430.00	\$51,430.00	\$75,000.00	\$75,000.00	

			Joseph B. Fay Co.		Mosites Construction Company		Golden Triangle Construction Company, Inc.	
ITEM NO.	DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
0609-0003	Inspector's Field Office and	1	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$19,000.00	\$19,000.00
X	Inspection Facilities, Type B	LS						
0609-0009	Equipment Package	1	\$2,100.00	\$2,100.00	\$500.00	\$500.00	\$6,000.00	\$6,000.00
X		LS						
0610-7001	4" Pavement Base Drain	407	\$20.00	\$8,140.00	\$13.00	\$5,291.00	\$16.00	\$6,512.00
H2		LF						
0620-0012	Thrie-Beam to PA Type 10M	4	\$1,700.00	\$6,800.00	\$5,000.00	\$20,000.00	\$1,750.00	\$7,000.00
J	Bridge Barrier Transition Without	EA						
	Inlet Placement							
0620-0400	Terminal Section, Single	3	\$50.00	\$150.00	\$70.00	\$210.00	\$52.00	\$156.00
J		EA						
0620-1100	Type 2-SC Guide Rail	38	\$18.00	\$684.00	\$120.00	\$4,560.00	\$70.00	\$2,660.00
J		LF	<u> </u>	^	4 00	*		<u> </u>
0627-0001	Temporary Concrete Barrier	144	\$50.00	\$7,200.00	\$47.00	\$6,768.00	\$40.00	\$5,760.00
J1, Q		LF	44.000.00	#4.000.00	***	400 000 00	#4.000.00	Φ4.000.00
0686-0050	Construction Surveying, Type D	1	\$4,000.00	\$4,000.00	\$20,000.00	\$20,000.00	\$4,000.00	\$4,000.00
0688-0002	Mi	LS 1	¢2.500.00	фо гоо оо	¢4.500.00	¢4 500 00	* 0.000.00	
0688-0002 X	Microcomputer with Battery	LS	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00
4689-0003	Backup System, Type A CPM Schedule	LS 1	\$3,000.00	\$3,000.00	\$1.00	\$1.00	\$5,000.00	\$5,000.00
4689-0003 X	CPM Schedule	LS	\$3,000.00	\$3,000.00	\$1.00	\$1.00	\$5,000.00	გ ნ,000.00
0804-0012	Seeding and Soil Supplements	10	\$50.00	\$500.00	\$100.00	\$1,000.00	\$220.00	\$2,200.00
M3	Formula C	LB	\$30.00	φ300.00	φ100.00	φ1,000.00	φ220.00	φ2,200.00
0805-0021	Mulching-Hay	1	\$500.00	\$500.00	\$1,300.00	\$1,300.00	\$420.00	\$420.00
M3	Widicilling-rilay	TON	Ψ300.00	ψ300.00	ψ1,500.00	ψ1,500.00	Ψ420.00	ψ420.00
0845-0001	Unforeseen Water Pollution	2,000	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
C1, H, M2	Control	DOLLAR	Ψ1.00	Ψ2,000.00	Ψ1.00	Ψ2,000.00	Ψ1.00	Ψ2,000.00
	Rock, Class R-4	5	\$250.00	\$1,250.00	\$210.00	\$1,050.00	\$219.98	\$1,099.90
C1, H	Troom, Glass IV I	CY	Ψ200.00	ψ1,200.00	Ψ210.00	ψ1,000.00	Ψ210.00	ψ1,000.00
0850-0035	Rock, Class R-7	5	\$275.00	\$1,375.00	\$250.00	\$1,250.00	\$300.00	\$1,500.00
C1, H	,	CY	,	Ţ :, J : 0.00	,	÷ · ,= = 2.00	,	7 - ,
0865-0001	Silt Barrier Fence, 18" Height	100	\$14.00	\$1,400.00	\$8.00	\$800.00	\$5.00	\$500.00
C, H, M2	,	LF	,	, ,	,	,	, - , -	,
0901-0001	Maintenance and Protection of	1	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$29,000.00	\$29,000.00
Q	Traffic During Construction	LS					. ,	. ,

			The Lane Construction Corporation			otta Contracting
ITEM NO.	DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
0609-0003	Inspector's Field Office and	1	\$15,800.00	\$15,800.00	\$10,000.00	\$10,000.00
X	Inspection Facilities, Type B	LS				
0609-0009	Equipment Package	1	\$3,960.00	\$3,960.00	\$4,000.00	\$4,000.00
X		LS				
0610-7001	4" Pavement Base Drain	407	\$20.00	\$8,140.00	\$23.00	\$9,361.00
H2		LF				
0620-0012	Thrie-Beam to PA Type 10M	4	\$1,900.00	\$7,600.00	\$6,000.00	\$24,000.00
J	Bridge Barrier Transition Without	EA				
	Inlet Placement		475.00	4005.00	440000	*
0620-0400	Terminal Section, Single	3	\$75.00	\$225.00	\$100.00	\$300.00
J 0620-1100	Type 2-SC Guide Rail	EA 38	\$30.00	\$1,140.00	\$150.00	ФБ 7 00 00
0620-1100	Type 2-50 Guide Raii	LF	\$30.00	\$1,140.00	\$150.00	\$5,700.00
0627-0001	Temporary Concrete Barrier	144	\$35.00	\$5,040.00	\$80.00	\$11,520.00
J1, Q	Temporary Concrete Barrier	LF	ψ33.00	ψ5,040.00	Ψ00.00	Ψ11,020.00
0686-0050	Construction Surveying, Type D	1	\$2,200.00	\$2,200.00	\$15,000.00	\$15,000.00
X	Condition curveying, Type B	LS	Ψ2,200.00	Ψ2,200.00	Ψ10,000.00	Ψ10,000.00
0688-0002	Microcomputer with Battery	1	\$2,310.00	\$2,310.00	\$4,000.00	\$4,000.00
X	Backup System, Type A	LS	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , ,
4689-0003	CPM Schedule	1	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00
X		LS				·
0804-0012	Seeding and Soil Supplements	10	\$100.00	\$1,000.00	\$150.00	\$1,500.00
M3	Formula C	LB				
0805-0021	Mulching-Hay	1	\$500.00	\$500.00	\$500.00	\$500.00
М3		TON				
0845-0001	Unforeseen Water Pollution	2,000	\$1.00	\$2,000.00	\$1.00	\$2,000.00
C1, H, M2	Control	DOLLAR				
0850-0032	Rock, Class R-4	5	\$140.00	\$700.00	\$200.00	\$1,000.00
C1, H		CY	<u> </u>		*	
0850-0035	Rock, Class R-7	5	\$170.00	\$850.00	\$200.00	\$1,000.00
C1, H	Cilt Dawies Ferre 40" Height	CY	фс г о	ሰር ር	£40.00	¢4 000 00
0865-0001	Silt Barrier Fence, 18" Height	100 LF	\$6.50	\$650.00	\$10.00	\$1,000.00
C, H, M2 0901-0001	Maintenance and Protection of	1 LF	\$28,800.00	\$28,800.00	\$25,000.00	\$25,000.00
Q Q	Traffic During Construction	LS	φ20,000.00	φ20,000.00	φ25,000.00	φ25,000.00
Q	Trailic During Construction	LO				

			Joseph l	Joseph B. Fay Co.		onstruction pany	Golden Triangle Construction Company, Inc.	
ITEM NO.	DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
0901-0202 P8 Q	Floodlights	3 EA	\$400.00	\$1,200.00	\$800.00	\$2,400.00	\$2,000.00	\$6,000.00
0901-0231 Q	Additional Warning Lights, Type B	132 DAY	\$1.00	\$132.00	\$1.00	\$132.00	\$1.00	\$132.00
0901-0240 Q R	Additional Traffic Control Signs	500 SF	\$10.00	\$5,000.00	\$10.00	\$5,000.00	\$10.50	\$5,250.00
4931-0001 R	Post Mounted Signs, Type B	18 SF	\$26.00	\$468.00	\$34.00	\$612.00	\$50.00	\$900.00
0941-0001 R	Reset Post Mounted Signs, Type B	2 EA	\$55.00	\$110.00	\$100.00	\$200.00	\$130.00	\$260.00
0971-0001 R	Remove Post Mounted Signs Type B	8 EA	\$75.00	\$600.00	\$70.00	\$560.00	\$30.00	\$240.00
1003-0008 S1 S2	Dowel Holes, 18" Depth	16 EA	\$160.00	\$2,560.00	\$62.00	\$992.00	\$30.00	\$480.00
1017-0000 K1 S2	Pressure Mortar Pointing	84 LF	\$52.00	\$4,368.00	\$58.00	\$4,872.00	\$50.00	\$4,200.00
1018-0050 T1	Removal of Portion of Existing Bridge	1 LS	\$75,000.00	\$75,000.00	\$125,000.00	\$125,000.00	\$63,500.00	\$63,500.00
1091-0331 K1 S2	Epoxy Injected Crack Seal	10 LF	\$50.00	\$500.00	\$70.00	\$700.00	\$80.00	\$800.00
1091-0335 K1 S2 S9	Epoxy Injected Crack Seal	2,000 DOLLAR	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
EITHER 8130-0001 S1	Bridge Structure, as Designed BPAA No. 02-2828	1 LS	\$426,000.00	\$426,000.00			\$490,000.00	\$490,000.00
AND 1002-0053 S1, S7	Reinforcement Bars Epoxy Coated	4,402 LB	\$1.75	\$7,703.50			\$2.00	\$8,804.00
OR 8000-0001 S1	Prestressed Concrete Bridge Structure	1 LS			\$322,088.57	\$322,088.57		
OR 8100-0001 S1	Steel Bridge Structure	1 LS						

			The Lane Construction Corporation		*Carmen Palio	tta Contracting c.
ITEM NO.	DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
0901-0202	Floodlights	3	\$660.00	\$1,980.00	\$10,000.00	\$30,000.00
P8 Q		EA				
0901-0231	Additional Warning Lights,	132	\$1.00	\$132.00	\$1.50	\$198.00
Q	Туре В	DAY				
0901-0240	Additional Traffic Control Signs	500	\$10.00	\$5,000.00	\$12.00	\$6,000.00
QR		SF	400.00	A 4 0 0 0 0	470.00	A 4.000.00
4931-0001	Post Mounted Signs,	18 SF	\$26.00	\$468.00	\$70.00	\$1,260.00
Q 0941-0001	Type B Reset Post Mounted Signs,	2	\$75.00	\$150.00	\$100.00	\$200.00
R R	Type B	EA	\$75.00	\$150.00	\$100.00	\$200.00
0971-0001	Remove Post Mounted Signs		\$55.00	\$440.00	\$100.00	\$800.00
R	Type B	EA	φ33.00	φ440.00	\$100.00	φ600.00
1003-0008	Dowel Holes, 18" Depth	16	\$980.00	\$15,680.00	\$100.00	\$1,600.00
S1 S2	Boworriolog, 10 Bopar	EA	Ψ000.00	ψ10,000.00	Ψ100.00	ψ1,000.00
1017-0000	Pressure Mortar Pointing	84	\$75.00	\$6,300.00	\$300.00	\$25,200.00
K1 S2	, and the second	LF	, , , , , ,	, , , , , , , , , , , , , , , , , , ,	,	, ,,
1018-0050	Removal of Portion of	1	\$52,300.00	\$52,300.00	\$75,000.00	\$75,000.00
T1	Existing Bridge	LS				
1091-0331	Epoxy Injected Crack Seal	10	\$50.00	\$500.00	\$1.00	\$10.00
K1 S2		LF				
1091-0335	Epoxy Injected Crack Seal	2,000	\$1.00	\$2,000.00	\$1.00	\$2,000.00
K1 S2 S9		DOLLAR				
EITHER			4017.000.00	A047.000.00		
8130-0001	Bridge Structure, as Designed	1	\$617,330.00	\$617,330.00		\$0.00
S1	BPAA No. 02-2828	LS				
AND						
1002-0053	Reinforcement Bars	4,402	\$3.25	\$14,306.50		\$0.00
S1, S7	Epoxy Coated	LB	ψ0.20	ψ14,000.00		Ψ0.00
OR						
8000-0001	Prestressed Concrete Bridge	1			\$650,000.00	\$650,000.00
S1	Structure	LS				
OR						
8100-0001	Steel Bridge Structure	1				
S1		LS				

			Joseph B. Fay Co.		Mosites Construction Company		Golden Triangle Construction Company, Inc.	
ITEM NO.	DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
9000-0001	Removal of Railroad Rails	1	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$7,000.00	\$7,000.00
С	and Ties	LS						
9000-0002	Winter Maintenance of	5,000	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
F1	Temporary Pavement	DOLLAR						
9000-0006	Bituminous Drive Adjustment	23	\$63.00	\$1,449.00	\$40.00	\$920.00	\$30.00	\$690.00
F1		SY						
9000-0012	Sawcut of Existing Pavement	50	\$6.00	\$300.00	\$30.00	\$1,500.00	\$10.00	\$500.00
G4		LF						
9000-0022	Moment Slabs No. 1-3	43	\$640.00	\$27,520.00	\$1,000.00	\$43,000.00	\$600.00	\$25,800.00
G		LF						
9000-0023	Moment Slab No. 4	13	\$700.00	\$9,100.00	\$1,200.00	\$15,600.00	\$600.00	\$7,800.00
G		LF						
9036-0001	Bridge Identification Plaques	1	\$525.00	\$525.00	\$1,000.00	\$1,000.00	\$350.00	\$350.00
X		LS						
9100-9001	Repair Deteriorated Concrete/	40	\$300.00	\$12,000.00	\$800.00	\$32,000.00	\$200.00	\$8,000.00
S2	Masonry Stone	CF						

			The Lane	Construction	*Carmen Palid	otta Contracting
			Cor	poration	I	nc.
ITEM NO.	DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
9000-0001	Removal of Railroad Rails	1	\$2,950.00	\$2,950.00	\$5,000.00	\$5,000.00
С	and Ties	LS				
9000-0002	Winter Maintenance of	5,000	\$1.00	\$5,000.00	\$1.00	\$5,000.00
F1	Temporary Pavement	DOLLAR				
9000-0006	Bituminous Drive Adjustment	23	\$39.00	\$897.00	\$50.00	\$1,150.00
F1		SY				
9000-0012	Sawcut of Existing Pavement	50	\$24.00	\$1,200.00	\$50.00	\$2,500.00
G4		LF				
9000-0022	Moment Slabs No. 1-3	43	\$700.00	\$30,100.00	\$1,500.00	\$64,500.00
G		LF				
9000-0023	Moment Slab No. 4	13	\$720.00	\$9,360.00	\$1,500.00	\$19,500.00
G		LF				
9036-0001	Bridge Identification Plaques	1	\$910.00	\$910.00	\$1,500.00	\$1,500.00
X		LS				
9100-9001	Repair Deteriorated Concrete/	40	\$380.00	\$15,200.00	\$200.00	\$8,000.00
S2	Masonry Stone	CF				

		Joseph B. Fay Co.		Mosites Construction Company		Golden Triangle Construction Company, Inc.	
		TOTAL BASE BID	\$804,932.00	TOTAL BASE BID	\$851,777.77	TOTAL BASE BID	\$872,265.40
MBE/WBE PARTICIPATION							
REQUIREMENTS: MBE	13%	13%	6	13%	6	139	%
WBE	2%	2%)	2%	1	2%	6
BID BOND AMOUNT		Five Percent of	Amount Bid	Five Percent of	Amount Bid	Five Percent o	f Amount Bid

		The Lane Construction Corporation		*Carmen Paliotta Contracting Inc.	
		TOTAL BASE BID \$1,028,671.50		*TOTAL BASE BID	\$1,288,950.00
MBE/WBE PARTICIPATION					
REQUIREMENTS: MBE	13%	13	%	13%	
WBE	2%	2%		2%	
BID BOND AMOUNT		Five Percent of Amount Bid		Five Percent of Amount Bid	

* Asterisk only indicates when an error was made by the bidder or when an irregularity appears in their bid documents. See the Informational Notes for clarification.

The apparent low bidder is Joseph B. Fay Company at \$804,932.00

This bid tabular was prepared from the bid proposals submitted at the bid opening by:	This bid tabular was checked by:	This bid tabular was verified and checked against the proposals by:
Mike Burdelsky, Construction Division	Dan Swisher, Contracts Division	Controller's Office

INFORMATIONAL NOTES FOR THE DEPARTMENT

Carmen Paliotta Contracting Inc.: The bidder erred in the computation of total amount of base bid. Having authorization the department made the correction to the total amount of base bid.

CONTROLLER'S NOTES